BRANZ / Components [(x®%&S : TY-34)2008.02.08
54%8 / External View No. %% / Part name ME / Pcs E / Material . ZRERIHE / Color- Finish
1 by 77—/ Top cover 1 A UD-A"2-p / Polycarbonate |34Mb- / Light gray
2 |[RT4 — / Base 1 NID-N22=NTIXT7AN - 4N b-
Glass fiber filled Light gray
polycarbonate
3 |[W—7 / Roof 1 me/ PVC 4N b=/ Light gray
L (1A vy + / Gasket 1 AY7b3y / Polyurethane 73y / Black
5 |Z7v # / Lafch 2 A77bA / Stainless steel w03 / Unfinished
sl il Waanullh 6 |Hffx—Z2AEA(ML x 8) 2 K = {7ox-k
Screw(M4 - 8) Steel Trivalent chromate
XI—27% L / Without roof unit %
5 1 1 TN WFT—% / Technical Data
———éc —éﬂ— }_ | i REZMR / Protection class IP65
[E EARE®E / Operating temperature | -20C ~ +75C
! WeEMt 2 2 2/ Flammability class UL9LV =0
L.
.
()
i 260
i . 220 . 75 2
=3 e 2
25 25 25 25 25 Q
( . \ﬁo& Jf” H I 1 Jr I1r 17 1 17T J1r 110 10 I17 T1 —H- I\
o 72 I [ |
| | 8 1% & 006 ¢ o O @H
Lj LN 8 — | . r__J N _| |
[I*J N == I \ NG} L_I]g ;I D Q ! I
' | ' |
: | : | K
1 5 1] ) o 9O 9 9900 o
i \ W @_JB“ E: % 1 AN I A I I I N N N O I O A | IOI 1 ! {
2-ML4J5-rFyh
2-ML Insert nut
- 2L 249 o
| \
& | — ® (=
O
<
N T m T
L-MLIITE AR A 244, ,
L-Boss for M4 tapping screw P = & /Tie N 1
[TakAcHI] #RX &3t s HFERTE B5K - B BEA-THH K UK 2-hT 58" 9% O L4
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 POLYCARBONATE PLASTIC BOX with OUTDOOR ROOF
KR/ /Approved | &R /Checked | #E/Created 3% /Product number RE/Scalizs
. BCPR112607S -
Gl g 8 "/
e B /Date 2019/06/10




Rt / Internal View

XARIZIFL—TEHTTOEEA,
Drawing does not include roof unit.

—

- w W w W w W w N
T 14— (RR)

Base (Internal View)

260

[ 1 [ 1
g N
O o000 660 ©

=l ||| © Q

O © 06006 o
u-\\ (7 ) (7
T

A~ /Max dim. 615

A
Tuw LS R B B B S e
BT /Max dim. 235.8 o

2-MLAY-pFyh

72-M4 Insert nut

[(xm&= : TY-34)2008.02.08

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

(e @)
LN
(o)
E
O
o H3—(AR)
= Cover (Internal View)
#H
&
pa O[O mi
= \ SIS
L-MLIC YT AT
L-Boss for M4 tapping screw
i &% /Title S —
HRRA S ) F BRI B K BB A-IHEK V-5 2-NT 5593 O L]

IP65 POLYCARBONATE PLASTIC BOX with OUTDOOR ROOF

&R/ Approved

PR

I&X /Checked

IR

BN /Created

’162

7% /Product number RE/Scaliz c
BCPR112607S —
fE®B/Date  2019/06/10 272




	BCPR112607S Model (1).pdf
	BCPR112607S Model (2).pdf

